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%DQ\DNQ\D� UHVWRUDQ� PHQFLSWDNDQ� DGDQ\D� VXDWX� SHUVDLQJDQ� ELVQLV�� UHVWRUDQ�
UHVWRUDQ� LQL� GDSDW�PHQMDGL� SHPHQDQJ� GDODP� SHUVDLQJDQ� ELVQLVQ\D� DSDELOD� UHVWRUDQ�
UHVWRUDQ� LQL� PDPSX� PHQMDULQJ� SHODQJJDQ� VHEDQ\DN�EDQ\DNQ\D�� 'DODP� NRQGLVL�
SHUVDLQJDQ� \DQJ� NHWDW� WHUVHEXW� KDO� XWDPD� \DQJ� KDUXV� GLSULRULWDVNDQ� ROHK� UHVWRUDQ�
UHVWRUDQ�VDODK�VDWXQ\D�DGDODK�NHSXDVDQ�SHODQJJDQ��DJDU�GDSDW�EHUWDKDQ��7HRUL�\DQJ�
GLJXQDNDQ� XQWXN� SHQHOLWLDQ� LQL� DGDODK� .HSXDVDQ� 3HODQJJDQ�� .XDOLWDV� /D\DQDQ��
+XEXQJDQ�$QWDUD�.XDOLWDV�/D\DQDQ�GDQ�.HSXDVDDQ�3HODQJJDQ��*DS��GDQ�3HQHOLWLDQ�
7HUGDKXOX��'DWD�LQL�PHQJJXQDNDQ�PHWRGH�ZDZDQFDUD��VXUYH\��GDQ�NXHVLRQHU��+DVLO�
GDUL� SHQHOLWLDQ� LQL� PHQXQMXNNDQ� YDULDEHO� \DQJ� SDOLQJ� SHQWLQJ� XQWXN� NRQVXPHQ�
WHUKDGDS�SHOD\DQDQ�GL�UHVWRUDQ�'DJR�&OLII��9DULDEHO�WHUVHEXW�WHUGLUL�GDUL�YDULDEHO EXNWL�
ODQJVXQJ��WDQJLEOH���NHKDQGDODQ��UHOLDELOLW\���GD\D�WDQJJDS��UHVSRQVLYHQHVV���MDPLQDQ�
�DVVXUDQFH���GDQ�HPSDWL��HPSDWK\��
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